

For every real number a , b , and c ...

$$a(b + c) = a \cdot b + a \cdot c$$

$$a(b - c) = a \cdot b - a \cdot c$$

$$3(5 + 6)$$

$$4(7 - 5)$$

Use the distributive property to simplify the following expressions

$$2(x + 4)$$

$$4(5 - y)$$

$$(a + 3)6$$

$$-2(x + 8)$$

$$-5(3 - b)$$

$$(x - 2)(-4)$$

Use the distributive property to simplify the following expressions

$$3(2x + 4 + 5y)$$

$$\frac{1}{2}(4 - a + b)$$


$$-(5x - 8)$$

$$-(6 + 3a)$$


For every real number a , b , and c ...

$$a(b + c) = a \cdot b + a \cdot c$$

$$a(b - c) = a \cdot b - a \cdot c$$


$$a(b + c) = a \cdot b + a \cdot c$$

() means to multiply


$$a(b - c) = a \cdot b - a \cdot c$$

() means to multiply